Ch 13 & 14 Practist Test: Answer Key

Ch 13

1.  c

2.  d

3.  a

4.  b

5.  c

6.  a

7.  b

8.  d

9.  c

10. b

11. d

12. c

13. a

14. d

15. b

16. traits

17. inbreeding

18. mutations

19. bacteria/ prokaryote

20. antibiotics

21.  has more than 2 sets of chromosomes

22. copies of DNA

23. circular piece of DNA inside some bacteria

24. organism with foreign DNA inserted through genetic engineering (example: glowing bunny)

25. they are identical

26. A

27. B

28. don’t want genetic info from sheep B when cloning sheep A

29. Lamb

30. Lamb and A

Ch 14

1.  d

2.  c

3.  a

4.  b

5.  a

6.  b

7.  a

8.  c

9.  a

10. d

11. c

12. a

13. c

14. b

15. a

16. pedigree

17. O

18. PKU

19. X

20. gel electrophoresis or DNA fingerprinting

21. one base (letter) is different (substitution gene mutation)

22. because males only have one X chromosome

23. Barr bodies result when an X is turned off in a cell.  Males do not turn off the only X they have.  Only happens in females with two X chromosomes.

24. because they are different between individuals and easy to identify to whom it belongs

25. because we are so complex

26.  autosomes

27.  #1-22 or the first 44

28.  47

29. XXY, no, has Klinefelters

30. Both.  Y has the testis determining factor so this person has testicles… but they also have two X chromosomes so they have female reproductive parts.

Bonus: What is the person’s notation

47XXY

